(x+1)(FP-x+1)=x>+1

a+2b-3c)® = a®+4b2 + 9¢2 + 4ab — 12bc — 6ac

—_—~ o~

©)
@
@ (x+2)(x*-2x+4)=x3+38

@(xz—xy+y2) (2 +xy+y?) = x* —xB? +*

® (x-1)°(x+1)2=x'-222+1

@ (x* - xy+y?) (X2 + xy +5?)
= (& +5%)* - ()
= xd b x2y? 4y




x3 = 6x% + 11x — 6= Q14-E3] 5}H?

D (x+1)(x=2)(x+3) @ (x-1)(x+2)(x+3)

@ (x4+1)(x+2)(x-3)




x=1 y=-2
L oxy =2




_ 2 f _
=7 - A o, 222 — 4z -1 9] S FopH?
—i

B

2
L 2% —dz-1 =2(1+i)2-4(1+1)-1
=4i-4-4i-1

= -5




= 21421, 1-2i8 2O 2 5T, x2 9] ATt 19l o2 ALY

D x*-2x-5=0 @ 2+42x+5=0
® x2+5x+2=0 @x2—2x—|—5:0

® x2-5x4+2=0

a+B=(1+2)+(1-2)=2
oB=(1+2)(1-2)=5
X2 —2x+5=0




y=—x*+4x+k o] ko] 6 & off, &3t

®-u @-12 @)1 @5 O -6

y=-x4+4dx+k=-(x-2)2+k+4 0=
=2y o) HUge k+ 4 0lk
THEFA] k44 =6 oA k=2
2<x<2Ay=-(x-2%+62x=-2¢ 0 HxFS
A4e, H%:gke 10 o]k,




ARG 207 - T + 11x+ 13 =0 Al 2= o, B, y=HL T O,
CHa Oh, 1, Epoll L5t2 gk Atel = & A2

ha+B+y

) aB + By + ya

Eh aBy

7 11 13 7 13 11 13 7 11
Oprn ray Cree
@?’_5’5 @5’_?77

&8 \

AL A2 ax® +bx® +cx+d =0(a #0)J Al 22 a, 8, vyt
il

b
a+p+y=—-
a

Cc

of+ By +ya=—

d
afy = ——
a




(x) ol ti5ked (a2 - 2)(x + 3) = x* — 2ax® + b7} x ol izt
HESa, b9 G A O, 20 - b F27

o
otk

>
L~

Al
=L =
&4

© -3 @ -5 ® -4 @ 4 ®s

(x2 = 2)(x% 4 3) = x* — 2ax® 4+ bOlA
=29 4-4a+b=0------ @

O, @‘ﬂl’ﬂaz—%,b:—ﬁ
. 2a-b=>5




f(xX)Ex-1, x—22 Yz YHAZF 2423, 54 o, f(x) & x*-3x+2
2 U e g Foh?

@2x+1 @ 2x+3 ® 2x-1
@ 2x ® 2x-3

B

X2 =3x+ 22 WE &2 O(x), YHAE ax + b2k 514 f(x) =
(x2 =3x+2)Q(x) +ax+ b

a4 f(1) =3, f(2) =5°|2&

a+b=3,2a+b=5

La=2,b=1

webd, Fohe LAl ox 4 1




10.

olafgre] A%7} 191 5 o] AhekabAl o] Azl ,
FUi47H 68 - 342 — x4 1290 T, o] 5 ThaHAl O] L Tl

@ x2-x-10 @)2x2 - x-10 ® x2-x-12

@ 2x2-x-20 ® 2x24+x-10

B

a,b7t ARAYD o, T ohFAlo] (x + 2)a, (x+ 2)bO]H H AT

B 4= (x + 2)ab ©]Tt.

1= 3x% —4x + 12 = (x + 2)ab
=(x+2)(x-2)(x-3)

weld £ gL 2ot

(x+2)(x-2),(x+2)(x-3)

RER 2L

=x+2)(x-2)+ (x+2)(x-3)

=2x>-x-10




11.

2x+y =3 W, x* +xy+1 9 HAGE FolH?

11 13
oy @3 @z O

N~

B

© 7

2x+y =314 y = -2x+ 3 o|c}.
P+xy+1=x2+x(-2x+3)+1
= 5 -8yl

B ( 3)2+13
—T\' 2 4

meb Huigee 1 olc.




12.

B44a+bi (b#0,i= V-1)7F A2 ZA B3+ px+¢g =09
SITd o, o2 F pEa2tb E A Ul ALY (Ha, b, p. g
%)

® a*+ b? @ a*-2b? ® b*-a?

@ b?-24> @b2 34>

P +px+q=09 M T2 a+bi, a-bi, a2t stA L
Alg=ete] TA | 25t

(a+bi)+(a=bi)+a=0 ------ A
(a+bi)(a—bi)+ala+bi)+ala—bi)=p - ©
ala+bi)(a-bi)=—-q ------ ©

@NA @ = —2a

O°llM H sl A=lshd p = b* - 3a?




@ -10 @)-7 ® -3

9,]6H7]—x:a,y:ﬁ%l ELH, (1’+ﬂ9’]%):o]%

x2_(y+1)2:0 @
x2+y2:25 O

O =25-y*%
SREEREE
25-y2—(y+1)2=0
25-y2-(y?+2y+1)=0

292 -2y +24=0,y>+y—-12=0,
G+490>-3)=0,

Ly=-4,3

1)y=—-4,x==+3
—a+pB=3-4=1,-3-4=-7
i)y=3x==4
S>a+p=44+3=7-44+3=-1




®x_2\/5’y:_\/g @xz—Q\/S,y:\/S
52 5V2 5V2 52
© T YT Ty @x_‘Q’ =5
G (o 5V2 _ 5V2
X = 5 V= 5
x4+ xy—2y%2 = 094
(x=y)(x+2y) =0
x=yd o
2432 =22=25
—+ﬂ§ x—+ﬁ§
y== 5 =+
i) x=-2y
22 +y2 =5y =25
¥ =5, y=+v5, x =725 (B3%%)
s =g, 5V2 52 5v2 52
LTEE ARG ) 5 -
(-2v5, V), (2V5, - V5)




15. WA 6 455 4 dxy- 2+ 1 = 02 BEAZE A% x, yol dhate]
x4yl e FohE?

©-1 @-1 o1 @ 3 ® 7

~&B \

X2+ 5y +4xy—2y+1=00°1A
Ay + 42 +y2-2y+1=0
(x+2y)*+(-1)*=0

x+2y, y-12AF0|BR x4 2y=0,y-1=0
Ly=1 x=-2y=-2

Lxty=-1




